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1a. The average mass of a copper atom is 1.05558 x 10 grams (this was discovered by experiments
culminating in 1909). What is the mass of 6.02 x 10% copper atoms; in other words, what is the mass CM
of 1 mole of copper atoms?
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b. Copper’s atomic mass can be written as 635 '1(6 Ame_ or 6 3 » 5")‘6 g / M D(e

2a. The average mass of a lithium atom is 1.153 x 107 g.
What is the mass of 6.02 x 102 lithium atoms; in other words, what is the mass of 1 mole of lithium atoms?
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3a. What is the atomic mass (or “molar mass”) of aluminum (Al)?

b. What is the atomic mass (or “molar mass”) of Gold (Au)?
¢. How does 1.00 mole of aluminum compare to 1.00 mole of gold: (circle the answer for each)

these contain the same # of atoms

Which has more atoms?  the aluminum  the gold
these have the same mass

Which has more mass?  the aluminum  the gold

Calculate the molar mass of water.
Hoo : 2(loo?9) + (15.9994) =r/8.0192 3/mo/{7

Calculate the mass of 0.110 moles of water.
(in other words, convert 0.110 moles of water into grams )
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@ How many moles of water are in 43.1 grams of water?
(in other words, convert 43.1 grams of water into moles.)
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5a. Calculate the molar mass of potassium carbonate; K,COs. s g 3
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